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1. Write the equation of a quadratic function in vertex
form that has a vertex at (-1, -2) and passes through
(-3, 10).
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Feb 8-3:45 PM Feb 5-5:42 PM
1. Write the equation of a quadratic function in vertex 2. Forf(x)=3(x+1)"-2, find where f(x)<0. Round to 2
form that has a vertex at (-1, -2) and passes through decimals.

(-3, 10). 8:—0-_6{;@13&

b=a(341) -
]D:(l((q\ }19\ f(X)=3(X+1 )2-2
\a=do

3:&
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2. Forf(x)=3(x+1)>-2, find where f(x)<0. Round to 2 3. Your factory produces lemon-scented air fresheners.

decimals. The guy in accounting says that the cost for producing
x thousands of units a day can be approximated by
the formula, C=0.04x"-8.504x+25302. What daily

wu production will minimize your costs?

f(x)<0: (-1.82, -0.18)| Vanto,

-113
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3. Your factory produces lemon-scented air fresheners. 4. Write x*+x°-12 as the...

The guy in accounting says that the cost for producing a) product of factors that are irreducible over the rationals
x> thousands of units a day can be approximated by
the formula, C=0.04x"-8.504x+25302. What daily

production will minimize your costs?

b) product of factors that are irreducible over the reals

c) completely factored

106.3 thousand units
or
106,300 units
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4. Write x*+x?-12 as the... 5.Use the graph of the polynomial function to

a) product of factors that are irreducible over the rationals determine whether the degree is even or odd, the

. . leading coefficient is positive or negative, and the end
b) product of factors that are irreducible over the reals g p g ’

behavior.
c) completely factored
oo \
a) (x*+4)(x*-3) Jq R}
X) 7
b) (X*+4)(x-V3)(x+3)
. . = R0
0 (x+20)(X-20)(X-vB)(x+/3) fis 1=
flo -
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5.Use the graph of the polynomial function to 6. Given f(x)=-x"+4x"-3x-1, use the Intermediate Value
determine whether the degree is even or odd, the Theorem to show a zero exists on the interval [-3, -2].
leading coefficient is positive or negative, and the end
behavior. Q(‘.S) =

e

degree: even
lead coeff: +
As x—00, f(X)—~00
ASs X—-00, f(X)—00
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6. Given f(x)=-x"+4x"-3x-1, use the Intermediate Value

Theorem to show a zero exists on the interval [-3, -2].

f(-3)=-(-3)"+4(-3)*-3(-3)-1=-37
f(-2)=-(-2)+4(-2)*-3(-2)- 1=
Yes, there's a zero_ by VT,

since f(-3)=-37<0<f3=f(-2

7. Write a polynomial in standard form that has the

zeros -1, 32, 3+42
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7. Write a polynomial in standard form that has the

zeros -1, 3-/2,
(+1 *)@?@ﬁ)

|f(x)=x3-5x2+x+7 |

235 Y2X- 3y + 9+ 363 132 - 2
N
o Al |
-9 ¥+

8. Given the following factors of f(x), find the remaining
factors and write the complete factorization for f(x).
Then list all real zeros of f(x).

f(x) = x"+x’-5x°-3x+6; factors: (x-1), (x+2)

dii-g-3% L
Y SR G N
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8. Given the following factors of f(x), find the remaining
factors and write the complete factorization for f(x).
Then list all real zeros of f{x).

f(x) = x"+a-567-3x+6; factors: (x-1), (x+2)

factored: (x-1)(x+2)(x-v3)(x+v3)
zeros: 1, -233,-V3

February 10, 2016
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9. List all the possible rational zeros of f. Then determine

all the real rational zeros of f.

f(x) :%3-15952- Ta+12

9. List all the possible rational zeros of f. Then determine

all the real rational zeros of f.

f(x)=4x-15x"-7Tx+12

passible:J_rl,ir1,ié,il,iéiZ,i3,i4,i6,i12
42 4 2
real : —1,2,4
4
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10. Determine the domain for f(x)= X
e
x-3Yx+3)= 0

XD XA
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x—1

10. Determine the domain for f(x)=
¥ -x-6

X#-2,3
OR
(-o0, -2)u(-2, 3)u(3,0)

February 10, 2016
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11.Determine the slant asymptote for f{x)= x+3x—4
x+3

x+3

3|1 3 -4

IS _
U=t O —

g
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11.Determine the slant asymptote for f(x)= X +3x-4
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12. 5or f(x)= xz +1 , find all of the asymptotes, identify
domain andxraige, and state where f(x)>0.
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12. For f(x)= xz—+1 , find all of the asymptotes, identify
domain andxraige, and state where f(x)>0.

V.A.:x=-3,3
HA:y=1
Domain: x # -3,3 or (-5-3)U(-3,3)uU(309

(3,0
Range: (-o0,-1u(1,00) 7 .
f(x)>0: (-00-3Ju(3,%0) J: IQ;

=~ ~ 94~ F <

~

—r—

1
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